
21

22 14714 21 24

22

2929

147

24

14

21 147

22

 18 

 1
4
 

INST_12_87_5

INST_12_87_5 1/8

1

2

Nr Ʃ Element

5 4 DIN 985 M10 (OC)

14 18 ISO 7380 M6x12

21 56 DIN 125 8x16

22 48 DIN 125 6x12

24 30 ISO 7380 M6x16

29 18 -
K_5_A2_g2_

G_v2

44 4 ISO 7380 M10x25

58 1 - LOCTITE

147 56 - M6x10

242 6 -
1200_1_A2_

g3_G_v3

243 12 -
UCHW_114,

3

245 8 DIN 7991 M6x65

249 4
NYLON 
DIN 125

10x20

271 6 -
1200_25_A2
_g3_G_v1

INST_12_87_5 1/8

!
!

!
 99 

 7
7
 



!
!

!

14

22

147 21

147

21

14221472124

29

29

22

 99 

 7
7
 

 18 

 1
4
 

3

4

INST_12_87_5 2/8



! ! !

 17 

 7
 

21

14

22292921147

147

21

22

14

22 24

147

 99 

 1
8
 5

6

INST_12_87_5 3/8



!

!

!

5

7

INST_12_87_5 4/8



8

9

INST_12_87_5 5/8

21

245

147

242



249

271

44

10

INST_12_87_5 6/8



24

22

147 21

11

12

INST_12_87_5 7/8



INST_12_87_5 8/8

13

14

22

14721

24


